Bio 2nd Quizz 426
1-the hydrolysis of GTP-bound G protein is done by :

a) cAMP-dependent protein kinase

b) α-subunit of G protein

c) β-subunit of G protein

d) γ-subunit of G protein

e) protein phosphatase

2-all of the following mechanisms can mediate the metabolic effects of glucagons on target cells, EXCEPT :
a) binding of glucagons to its receptor

b) the binding of GTP to the α-subunit of G protein

c) the dissociation of β-subunit and α-subunit of G protein

d) the conversion of ATP into AMP

e) the activation of protein kinases 

3-regarding the conversion of glucose into glucose-6-phosphate:

a)it is a reversible reaction 

b)it occurs only in liver cells

c) it is catalyzed by hexokinase
d) it facilitate the exit of glucose from the cell

e) it produces one ATP molecule

4- as regards phosphofructokinase-2/fructose bisphosphate-2:

a)it is formed of 2 different polypeptide chains

b)it converts fructose-6-phosphate into fructose 1,6 bisphosphate

c)it is the rate-limiting enzyme of glycolysis

d)its kinase activity is stimulated by insulin
e) its phosphate activity is inhibited by glucagon

5-both aerobic and anaerobic glycolysis :
a) occur in the cytosol

b)require the presence of oxygen

c) require the presence of mitochondria

d) produce the same number of ATP molecules

e) result in the formation of lactate

6-arsenic poisoning affects the reaction catalyzed by :

a) hexokinase

b) Glycraldehyde-3-phosphate dehydrogenase

c)phosphoglycerate kinase

d)phosphoglycerate mutase

e) pyruvate kinase

7-the oxidation of one molecule of glucose by aerobic glycolysis would produce a net of :

a) 2 ATP

b) 4 ATP

c) 8 ATP

d)10 ATP

e) 12 ATP

8-regarding pyruvate kinase deficieny , all the following statements are true, EXCEPT:

a)the enzyme showed altered kinetics

b)it may be associated with decreased stability of the enzyme

c)the enzyme showed abnormal response to fructose 1,6 bisphosphate

d)there is accumulation of lactate in RBCs

e) it results in hemolytic anemia

9-an intracellular glycosaminoglycan is 

a)hyaluronic acid

b)heparin

c)keratin sulfate

d)chondroitin sulfate

e)dermatan sulfate
10- the most abundant glycosaminoglycan is :

a)hyaluronic acid

b)heparin

c)chondroitin sulfate
d)keratin sulfate

e)dermatan sufate

T or F :

1.   a. the GLUT-4 of skeletal muscle and adipose tissue is insulin sensitive (T)

b. the formation of high energy phosphate bond in 1,3bisphospioglycerate requires ATP (F)

c. myocardial infraction may be associated with lactic acidosis (T)

d. starch is formed of α-D-glucose units (T)

e. glycosaminoglycans are large complexes of positively charged heteropolysaccharide chains (F)
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